
CPSC 421/501 Oct 18
,
2024

- Myhill-Herode : E : Ga
, be

- Garb (nom]
- lauba , i

.

e.,
*

a

- [
*&"

,
k = 9

,
1
,
2, -- -

- Next week :

Start Ch
.
3
, Turing machines

- Midterm materials to appear



E = (a
,
b]

L = Garbc/n - 111]
- Gab ,

arb
,
23b3

, -- 3

claim : L is not regular.

Recall : sc *, LCE
*

Accfty(s) = 45'c[
*

/SosL].



-Accfrty(s)
5(5/dosL]

: 45 /s 3 = L

: Gab ,
arbi, a b3... 3

b [slbos Ly : &

Gibs
beb10



s Accfuty(s)

a 45')aosh]
- [b , abarb, - - - )

a (slash
= Sb2 , ab, arb"

,
- -)

!

al
Dr. ..)

[bl , abarb]



Hate

0
bk Acfu+ y(ak)
but

be Dcfuly (ak) , Lik

& Note ! the shortest string in

Acfutylak) is b"

last



Also

Axfut(ab) = G2]

Axft(arb) = [b]

i

Accfu(b)
= (b)

Y
all singletons

(sets of size one)
,
all different



So

& Acfuty(s))gS
is infinite

,
ine.

as se [ *,

Accfuty(s)
has do-many values



more systematically

-
whereI winds up

x
G

You can merge states

with Myhill-Herode
Accfuty(s)



↳= E
*

a (Sihabs)

laub)*
& often abbreviated

↑
Gub as E

Regula Expressions

i



-e just ended with
v

an a

Y
b Eb

⑫sonder withe

Accty(s) may

(v(5*a) 3inn



-
b

Next step

·
ima

Go merge

C
merge

?



-
-Ga
-m

"Comin
intuitive for Joel



How!

L : [
*E

-

> [ strings with 32 symbols ,
second to last is an a

Intuitively
aa

->O Ymerge·
↳ -bb . +

⑮ After
merging

merge
get 4 states



What about on HFA ...?

"
* &"

k= Gl2 ,
3
,
--


